Spain

Geography Crossword Puzzle -- Level #2 (20 Questions)
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ACROSS DOWN
1 Highest mountain in Spain (3,481 m) and a part of the Sierra 2 Gulf south of Spain and Portugal
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Nevada range in the south

Sea east of Spain, surrounded by Europe, Africa, and the
Middle East

Spanish islands off the West African coast

Small Spanish territory on the north Moroccan coast

Range of mountains that forms a natural border between
France and Spain

Tiny British overseas territory south of Spain; also a famous
rock and a strait there

Northeastern neighbor of Spain whose name in Latin means
"land of the Franks"

Major seaport on Spain's northeastern coast, capital of
Catalonia, and host of the 1992 Summer Olympics
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The subject of this puzzle, the largest country on Western
Europe's Iberian Peninsula
African country south of Spain, on the other side of the Strait
of Gibraltar

Country in northern Spain is the homeland of an
ethnic group with a distinct language and culture
Capital of Spain, on the Manzanares River in the center of
the country
Longest river in Spain, also known as the Tagus, that cuts
across the middle of Spain to the Atlantic
Small, landlocked Catalonian country lodged between
France and Spain
Spanish archipelago (island group) and sea in the
Mediterranean Sea
World's second largest ocean, west of Spain
Spain's western neighbor on the Iberian Peninsula
Bay of , a gulf of the Atlantic Ocean north of Spain
Name of the peninsula comprising Spain, Portugal,
Gibraltar, Andorra, and a bit of France

WORD BANK: Andorra, atlantic, balearic, barcelona, basque, biscay, cadiz, canary, ceuta, france, gibraltar, iberia,
madrid, mediterranean, morocco, mulhacen, portugal, pyrenees, spain, tago.
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